
      Arithmetic CHALLENGE   

 

15.7.2020  
 

1) 43  
a. 2) Add one fifth and six eighths.   

b. 3) 20 050 – 5847 = 

 

 

4) 21457 – 4400 – 6700 = 

 

 

5) 800 × 60 = 

 

 

6) 92 – 10 = _______ x 10 

 

 

7) 9036 ÷ 9 =______ 

 

 

8) ______÷ 100 = 7600 

 

 

9) 7.36 × 1000 =  

10) 7·004 – 4.7 = 

 

 

11) 30 + 80 ÷ 10 = 

 

 

12) 90 × ____= 60 × 30 

 

 

13) 5 + 4 +  3 = 

9   18    9 

 

14) 4 × 560 ×3 = 

 

 

15) Simplify 21 

              49 

 

16) 26 x 87 = 

 

 

17) 50 – 95 ÷ 5 =  
18) 432 x 36 = 

 

 

19) 5 of of 256 

8 

 

20) 6800 ÷ 8 =  

 

 

 

Score  
 

 

 

 

       

Working out area 

 


